Long Division (H)

8.687 | 511

41.138] 614

13.980 (233

73.080 | 812

6.669 117

Find each quotient.

55.118 | 889

43.208 982

9.648| 603

31.152 | 649

67.830 | 714

17.186| 661

67.518 | 682

8.662 122

63.168 987

17.238|507
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Long Division (H) Answers

8.687 | 511

Find each quotient.

55.118 | 889

117

41.138] 614

|62

43.208 982

|67

13.980 (233

| 44

9.648| 603

|60

73.080 | 812

|16

31.152 | 649

190

6.669 117

|48

67.830 | 714

|57

|95

17.186| 661

|26

67.518 | 682

199

8.662 122

|71

63.168 987

| 64

17.238|507

| 34
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